Math 53 Quiz 4
February 15, 2017

This quiz will be graded out of 10 points, with individual questions weighted as (indicated). Please
read the instructions carefully. and explain your work. No calculators, please!

Problem 1. (3 points) Sketch several traces of 3z? + y 4 322 = 0 in y, and use these to sketch the
surface. What type of surface is it?
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Problem 2. (3 pomnts) Find and sketch the (maximal) domain of the function
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Problem 3. (4 points) Find a vector function that represents the curve of intersection of the

paraboloid z = 4r? 4+ y? and the parabolic cylinder y = x?.
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